Efficiency vs P,

] S B S A—

T
9
foe

Y, SN TR ——

eficiency vs p
LB

A S RS NS S
4 R N S —
U R ------------ ------------
8 St S O

0.1

q

0.8

Ratio

0.6

00 L0 4, Golf”

AN NN REARRN
r
+

[—=— DQM original_StepZ_Tbar-phasel-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

|||I||||I|
uunumul

9-0.5:

efficiency

e .+$++++f+

+++ + +++ ++++ ++
+~+ *

Gherrt +++++¢+ +f++++++++¢+i++++++4=
off ++++++ +++++ ity H~+++++

Ratio




	Contents
	Page 1


